 (
اول شي ناخذ الحد الاول من القاسم والمقسوم
6ن3  نقسمها 2ن 
6ن3 
   = 3ن2
2ن
بعدين نضرب القيمه  بالحد كامل 
اخر شي نطرح
2) ناخذ القيمه الجديده
 
-
4ن2هـ
  / 2ن = 
-2ن هـ 
3) 2ن هـ /2ن = هـ 
)مثال: أوجد ناتج قسمة 6ن3– 13 ن2 هـ + 8 ن هـ2 - 3 هـ3
علي 2 ن – 3 هـ ؟



   6ن3   -   13ن2 هـ  + 8 ن هـ2  - 3هـ3             2ن – 3 هـ                )-6ن3    -   9ن2 هـ  )	
                                                                          3ن2 – 2ن هـ + هـ 2
0         -  4ن2هـ    +   8ن هـ 2   - 3 هـ 3
· ( - 4ن2 هـ  +  6 ن هـ 2
	
               0             +  2ن هـ 2 - 3 هـ 3           
	-( 2 ن هـ2   - 3 هـ 3 )

	0         0

اذن الحل هو = 3ن2 – 2ن هـ + هـ2
